MR (R BTk Mo
IiE & & B | B9 E | ERHE w &
Bo/KEHRER T [HPPE(EFZ O A ZEE)L=500m ¢ 100 & 26
HPPE(E%) L=5.00m ¢ 100 P 5
HiVP  L=4.00m ¢ 30 N 2
EFF—X (%) $100% ¢ 75 & 1
EFRUK (E%)22° 1/2 $ 100 & 1
FAHEEEER) ¢ 100 x 45° & 2
PEZaA Uk ¢ 100 & 1
PVZaqvb ¢ 100 & 1
YR KIEGKRYER) @100 x ¢ 30 & 1
SKXFr kKR AV vNEEER) ¢ 30 & 1
HIRUR22° 1/2 ¢ 30 & 1
HITJL7R90° 30 & 2
HiV/r vk ¢ 30 & 1
BRY—b W=150S m 159.4 159.4m775%(153.9+5.5)
HUIFRFRETL ¢ 100|—AHEY TR —ILETHEYER) ¢ 100 = 1
TUH=E H=800 = 1
HUIFHRBET ¢ 30 |FRHLTFH 30 = 1
HRlFVryr(BEER) @30 & 2 XEFHLUL
HH=E H=600 #A 1
HKRRRETI O 75 e ¢ 75 H 1
#iEFH H=200 675 ] 1
FANEFFEFHTFE $100% ¢ 75 & 1
ISUCMFH @75 1& 2
HkIEE H=800 #8 1
HBAKEIEBET  [vyruaskie GRUER) $100% ¢ 20 e 3
A HF ¢ 20 & 3
Hiv4yk $20 3
HIiT LR ¢20 & 6
HiVP  L=4.0m ¢ 20 x 1 3.5m#E% (1.5m x 1{4+1.0m x 244)
R —k W=150S m 2 2.0m7FAEE(1.0m X 144+0.5m x 244)




FEHR

[RiE BRI

No.2
I7E ¥R R By | BHE | EEHE i &
BKEHMRT [RUzFLogsmiT $100 m 153.9
RUIFLUERT I (REES) $100 1A#EF m| 26
" ®100 20##F = 2
RUIFLUEYHT ¢ 100 m} 3
AA=HIBFT RIYER) ¢ 100 m} 7
AH=ALBFEIGRER) ¢ 100 m] 1
EZLERBT ¢ 30 m 5.5
SRS KRBRET GRYER) ¢ 100 X ¢ 30 & 1
B NORERQLAAES ¢ 30 m] 1
RUIFLUEHFT @30 m] 1
TSHFT ¢ 30 m} 8
EHRRY—F m 159.4 159.4m7%(153.9+5.5)
BAKERBRT HKETRE B 0.08 159.4m/2,000H =0.079R
HUHFHREL G 100| LI FHET ¢ 100 H 1
AA=HILBFT RIYER) ¢ 100 m} 2
REZEL H=800 #A 1
BERE b4 1
LU FRETL ¢ 30 [LUIFHRET ¢ 30 H 1
SHENORERQLAAES ¢ 30 m] 2
RUIFLUEHFT @30 m] 2
RERET H=600 #A 1
BERE " 1
HARRBT G75 EARHRET 75 = 1
ANZHILBFEIGRYER) ¢ 100 m] 2
ISUCHET 75 O 1
REZEL H=800 #A 1
BERE b4 1
BKUIBI  [vrLakRBET RUER) $100% 20 1 3
HENORERQLAAES ¢ 20 m] 3
E=—LEMBET 20 m 35 3.5m#TE% (1.5m X 144+1.0m x 24§)
TSH#FT ®20 [m] 18
EHRO—F m 2 2.0m#AE%(1.0m X 1{+0.5m X 244)




T I #H E % No.3
E4 £ BO% # B # = At E
RiE BFTER ¢ 100/ ¢ 30
BoKEMR T (HmEKET H=800 Q) 060 m 0.975 x 9003 m3
H=600 HEQ 060 m 0.698 = 230 m3
At = 92.33 m3 90
HHERLT VSR MED 060 m 0.325 x = 3001 m3
U5 HEQ 060 m 0.238 = 079 m3
At = 30.80 m3 30
BATESR) ®.® = 30.80 m3 30
HHERLT FEL MED 060 m 0.250 x = 2309 m3
FET HEQ 060 m 0.290 = 096 m3
At = 2404 m3 20
HKtuET EESKn)|  10km = 65.62 m3 70
BERFEELTODH = 65.62 m3 70
TRERETGED) t=15cm VSR 060 m x 1539 m = 92.34 m2 92
TEBEIGED) t=15cm RC-30 060 m X 1539 m = 92.34 m2 92
TREERETIMWES) t=10cm RC-30 060 m X 55 m = 330 m2 3
LERETEED) t=12cm M-30 060 m X 1539 m = 92.34 m2 92
TERETMWEOR) t=8cm M-30 060 m x 55 m = 330 m2 3
RAsHZET t=3cm FRHL 060 m x 1594 m = 95.64 m2 96
AEBAsTHE T (HMETL) t=5cm poag i 140 m X 1539 m = 21546 m2 215
AEBAsSFHET (ANEL) t=4cm peag i 080 m x 55 m = 440 m2 4
AsEHEE R U BT T t=5cm 1539 m X 4 % = 61560 m
t=4cm 55 m X 4 % = 2200 m
At = 637.60 638
AsERZE IR R T t=5cm 140 m X 1539 m = 21546 m2
t=4cm 080 m 55 m = 440 m2
At = 219.86 m2 220
RAsTHZEMBE T t=3cm 060 m 159.4 = 9564 m2 96
AsEHEFER- 0 T IE R EE (km) 10km = 11.66 m3 12
HRKEMBRT |EWKEL H=600 060 m 0713 m X = 0.86 m3 1
HWHIERLT VSR 060 m X 0226 m X = 027 m3 0.3
HHERLT FEL 060 m x 0070 m X = 0.08 m3 0.1
HLMET = 0.76 m3 1
TRRET t=15cm ISR 060 m X 20 m = 120 m2 1
TERET t=10cm RC-30 060 m X 20 m = 1.20 m2 1
tE®RET t=17cm M-30 060 m X 20 m = 120 m2 1
RAsEHET t=3cm FRHL 060 m X 20 m = 120 m2 1
AEBASHET (ADEL) t=5cm pag i 140 m X 20 m = 280 m2 3
AsEHEE IR U BT T t=5cm 200 m x 4 % = 800 m 8
AsEiE R R T t=5cm 140 m X 20 m = 280 m2 3
RAsTHZE BT t=3cm 060 m x 20 m = 120 m2 1
AsEREERER- LT B EE (km) 0.15 m3 0.2




HHE [ME HRER]

No.1
I 22y pSEI Bl | ZHE | TEHRE w =
BoKEHRHRT  |[HPPE(EFZOfTHZEE)L=5.00m 75 P 21
HPPE(E %) L=5.00m 75 P 2
HiVP  L=4.0m @75 PN 1
ERERANEMEPXV) 75 & 1
FAHBMEGEEER) 75 1@ 1
vs¥aqk 675 & 1
EFV4vh 75 {& 1
EFRUR22° 1/2(F%) @75 & 1
RS —b W=150S m 116.3 111.3m#E%(114.34-2.0)
EUIFJRET ¢ 75 [—HEBY TS —ILEGIHER)ER) @75 # 1
rR=E H=800 & 1
wkoET SRSk GRUER) BT5% 20 & 5
HLAHF ¢ 20 {& 5
Hiv vk $20 {& 5
HiV vk $20x $13 & 1
HIiT /LR ¢ 20 & 10
HiVP  L=4.0m $20 PN 2 5.5m#E% (1.5m X 14 41.0m X 444)
BARY—k W=150S m 3 3.0m#E%(1.0m x 14 40.5m x 444)




FHER [E HRHRR]

No.2
I 22y pSEI Bl | ZHE | TEHRE w =
ERKEMRLT |RUIFLUEHRRT $75 m 1143
RUIFLUERF I (REES) ¢75 1O0#MF m} 21
" @75 20#F = 2
RUIFLUEET @75 m} 2
AN=ZHLBFIGRUER) 75 o 1
ANZHIVMFT(REER) 75 m} 5
EZILEMET 75 m 2
EBRS—k m 116.3 116.3m#E%(114.342.0)
BKEHBRT HKERE =] 0.06 116.3m/2,000H =0.058 H
EUFBET G5 [LUIAZET @75 #® 1
AN=ZHLBFIGRUER) 75 o 2
FERET H=800 # 1
BEZE " 1
HwAKOET YRS KRBEL RUER) G75% $20 @ 5
MENORERQCAAES ®20 O 5
E-—ILERmEZT $20 m 55 5.5m#E% (1.5m X 144 1.0m x 444)
TS#ET ®20 [ 31
" 13 [ 1
EHRY—k m 3 3.0m#E%(1.0m x 14 40.5m x 444)




T T H E X No.3
£ L BO® # B 4 2 AT E
e SRER ®75

BEKEMRT |MWEKET H=800 BrE@ 060 m X 0950 m X 1163 m = 66.29 m3
it = 66.29 m3 70

HHIERLT 252 | HEQ | 060 m x 0290 m X 1163 m = 2024 m3
it = 2024 m3 20
BALECSR) = 2024 m3 20

BMIERLT x4+ (@) 060 m X 0490 m X 1163 m = 3419 m3
&t = 3419 m3 30
Rt T EMESGKm)|  10km = 28.30 m3 30
BRxELTOSH = 2830 m3 30
TRERET t=10cm RC-30 060 m X 1163 m = 69.78 m2 70
LTERET t=8cm M-30 060 m X 1163 m = 69.78 m2 70
RAsERET t=3cm FHA 060 m X 1163 m = 69.78 m2 70
AEIHASSHET (AAKETL) t=4cm ooyl 080 m X 1163 m = 93.04 m2 93
AsEhZERR LI T t=4cm 1163 m X 4 % = 46520 m 465
AsERE AR T t=4cm 100 m X 1163 m = 116.30 m2 116
{RAsTREE A T t=3cm 060 m X 1163 m = 69.78 m2 70
AsTREFRER -0 T E %2 (km) = 6.75 m3 7
HBKEMHRLT [HHEKEL H=600 060 m X 0686 m X 30 m = 123 m3 1
BWERLT TSR 060 m X 0.226 X 30 m = 041 m3 1
BWIERLT x4+ 060 m X 0290 m X 30 m = 052 m3 1
BRIET = 065 m3 1
TRERET t=10cm RC-30 060 m X 30 m = 1.80 m2 2
LTERET t=8cm M-30 060 m X 30 m = 1.80 m2 2
RAsERET t=3cm FHA 060 m X 30 m = 1.80 m2 2
AEIHASSHET (AAKETL) t=4cm oogl 080 m X 30 m = 240 m2 2
AsERZE MR YT T t=4cm 300 m X 4 % = 1200 m 12
AsEiE AR T t=4cm 080 m X 30 m = 240 m2 2
IR AsER 2= RER R T t=3cm 060 m X 30 m = 180 m2 2
AsTRERER -0 T E R E (km) 10km = 0.15 m3 0.2




¢ 100 HPPE it /K & W) & & B - BOE BB
UEE (m) DI
¥ (m) BT T
5 H O w R ERE @z & & T
%
F-1 -1 -2 -3 ! O-© (1)
1
B
HPPE
= 100
& g oE
g

z-1 -2 Z-3 Z—4 Z-5 FhE | 5.000
HPPE 100 5. 000 5. 000 5. 000 0. 000
HPPE 100 5. 000 5. 000 5. 000 0. 000
HPPE 100 5. 000 5. 000 5. 000 0. 000
HPPE 100 5. 000 5. 000 5. 000 0. 000
HPPE 100 5. 000 2.000 1. 100 0. 800 3.900 1. 100
at 25.000 22. 000 1. 100 0. 800 23.900 1. 100

25. 000 22. 000 1. 100 0. 800 0. 000 0. 000 23.900 1. 100 0. 000




¢75 HPPE fd /K & ) & * Wi TE SR
UEE (m) DI
. . . & (m) Gk T .
5 H O TR | O ERE . g . T
5l
-1 Z-1 -2 z-3 Z-4 O-©® ([)
1
(=g
HPPE
EE= 75
& g oE
at
z-1 -2 Z-3 Z—4 Z-5 FhE | 5.000
HPPE 75 5. 000 5. 000 5. 000 0. 000 0
HPPE 75 5. 000 2.500 1. 800 4.300 0. 700 2
B 10. 000 7.500 1. 800 9.300 0. 700 2
10. 000 7.500 1. 800 0. 000 0. 000 0. 000 9.300 0. 700 0. 000 2



$30 HiVP i K & U F F g RS E RR
UEE (m) DHNT]
¥ (m) Yl T
=2 O 'R | O ERE @z, 9 = i &
%
-1 Z-1 -2 z-3 Z-4 O-® (m)
1
(=g
HiVP
z. b =
Z-1 -2 Z-3 4 -5 BE= 30
HiVP 30 4. 000 3. 000 1.000 4. 000 0. 000
HiVP 30 4. 000 0. 500 0. 500 0. 500 1. 500 2. 500 HahE |  4.000
7 8. 000 3. 500 1. 500 0. 500 5. 500 2. 500
8. 000 3. 500 1. 500 0. 500 0. 000 0. 000 5. 500 2. 500 0. 000 0



¢ 75 HiVP fid K & i Bt o T SRS
UEE (m) DOHNS
¥ (m) Yl T
& = O B RO ERE @z, 9 = i i &
F-1 -1 -2 -3 ! O-© (1)
1
(=g
HiVP
z. b =
Z-1 -2 Z-3 4 -5 BE= 75
1 HiVP 75 4. 000 1. 200 0. 800 2. 000 2. 000
FE | 4.000
7t 4.000 1. 200 0. 800 2. 000 2. 000
4. 000 1. 200 0. 800 0. 000 0. 000 0. 000 2. 000 2. 000 0. 000




